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Chapter 7 - Mixed Practice Sets

Practice Set 1
This chapter contains three sets of practice questions. Each set has 25 questions, with a mixture of content and question types.
Practice Set 1

The questions for Practice Set 1 are in this document. The answer key and the explanations are in the separate document titled “GRE Chapter 7 Set 1 Answers and Explanations.doc.”
Practice Set 2

The questions for Practice Set 2 are in the document titled “GRE Chapter 7 Set 2 Questions.doc.” The answer key and the explanations are in the separate document titled “GRE Chapter 7 Set 2 Answers and Explanations.doc.”
Practice Set 3

The questions for Practice Set 3 are in the document titled “GRE Chapter 7 Set 3 Questions.doc.” The answer key and the explanations are in the separate document titled “GRE Chapter 7 Set 3 Answers and Explanations.doc.”
Each of the Practice Sets in this chapter has 25 questions which are arranged by question type: Quantitative Comparison questions, followed by both types of Multiple-choice questions, then by Numeric Entry questions, and ending with a Data Interpretation set. Review the answers and explanations carefully, paying particular attention to explanations for questions that you answered incorrectly.
Note that each set of 25 practice questions has about the same number of questions of each type as the individual Quantitative Reasoning sections in the paper-based GRE revised General Test, with 25 questions per 40-minute (Standard Time) section. Therefore, to help you gauge the timed aspect of the Quantitative Reasoning measure, it may be useful to set aside a 40-minute (Standard Time) block of time for each set of 25 questions.

Before answering the practice questions, read the Quantitative Reasoning section directions that begin on the next page. Also, review the directions that precede each question type to make sure you understand how to answer the questions.

Quantitative Reasoning Section Directions

Directions: For each question, indicate the best answer, using the directions given.
Notes: All numbers used are real numbers.

All figures are assumed to lie in a plane unless otherwise indicated.

Geometric figures, such as lines, circles, triangles, and quadrilaterals, are not necessarily drawn to scale. That is, you should not assume that quantities such as lengths and angle measures are as they appear in a figure. You should assume, however, that lines shown as straight are actually straight, points on a line are in the order shown, and more generally, all geometric objects are in the relative positions shown. For questions with geometric figures, you should base your answers on geometric reasoning, not on estimating or comparing quantities from how they are drawn in the geometric figure.

Coordinate systems, such as x y-planes and number lines, are drawn to scale; therefore, you can read, estimate, or compare quantities in such figures from how they are drawn in the coordinate system.

Graphical data presentations, such as bar graphs, circle graphs, and line graphs, are drawn to scale; therefore, you can read, estimate, or compare data values from how they are drawn in the graphical data presentation.

Quantitative Comparison Questions

For Questions 1 to 9, compare Quantity A and Quantity B, using the additional information given, if any. Select one of the following four answer choices.

A.  Quantity A is greater.

B.  Quantity B is greater.

C.  The two quantities are equal.

D.  The relationship cannot be determined from the information given.

A symbol that appears more than once in a question has the same meaning throughout the question.

Example 1:

Quantity A:
[image: image2.png](2)(6)



 2 times 6
Quantity B:
2 + 6

Solution: Quantity A is equal to 12 and Quantity B is equal to 8, so the correct answer for Example 1 is answer choice A, Quantity A is greater.

Example 2:

Refer to the figure.
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Figure for Example 2
Begin skippable part of figure description.

The figure for example 2 shows triangle PQR where P is the leftmost vertex of the horizontal base PR and vertex Q is above PR. Point S lies on horizontal base PR and appears to be the midpoint of PR. Line segment QS is drawn from vertex Q to point S. The lengths of PS and SR appear to be equal.

End skippable part of figure description.

Quantity A:
The length of PS

Quantity B:
The length of SR
Solution: The correct answer for Example 2 is answer choice D. The relationship between the lengths of PS and SR cannot be determined from the information given since equal measures cannot be assumed, even though the lengths of PS and SR appear to be equal in the figure.
Question 1.

Points R, S, and T lie on a number line, where S is between R and T. The distance between R and S is 6, and the distance between R and T is 15.

Quantity A:
The distance between the midpoints of line segments RS and ST
Quantity B:
The distance between S and T
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 2.

S is a set of 8 numbers, of which 4 are negative and 4 are positive.

Quantity A:
The average (arithmetic mean) of the numbers in S
Quantity B:
The median of the numbers in S
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 3.

The length of each side of rectangle R is an integer, and the area of R is 36.

Quantity A:
The number of possible values of the perimeter of R
Quantity B:
6
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 4.

It is given that [image: image4.wmf] x = open parenthesis, z minus 1, close parenthesis, squared, and y = open parenthesis, z + 1, close parenthesis, squared.
Quantity A:
The average (arithmetic mean) of x and y
Quantity B:
[image: image5.wmf] z squared.
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 5.

It is given that x, y, and z are the lengths of the sides of a triangle.

Quantity A:
x + y + z

Quantity B:
2z
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 6.

At a club meeting, there are 10 more club members than nonmembers. The number of club members at the meeting is c.

Quantity A:
The total number of people at the club meeting
Quantity B:
[image: image6.wmf] 2 c minus 10
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 7.

It is given that n is a positive integer that is greater than 3 and has d positive divisors.

Quantity A:
n
Quantity B:
[image: image7.wmf] 2 raised to the d minus 1 power
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 8.

It is given that [image: image8.wmf]. m = 10 raised to the 32 power, + 2.
It is also given that when m is divided by 11, the remainder is r.

Quantity A:
r
Quantity B:
3
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Question 9.
It is given that [image: image9.wmf] x y = 8 and x = y minus 2.
Quantity A:
y
Quantity B:
0
A.
Quantity A is greater.

B.
Quantity B is greater.

C.
The two quantities are equal.

D.
The relationship cannot be determined from the information given.
From the answer choices given, select and indicate the one that describes the relationship between quantity A and quantity B.

Multiple-choice Questions—Select One Answer Choice

Question 10.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

The area of circle W is [image: image10.wmf] 16 pi and the area of circle Z is [image: image11.wmf] 4 pi. What is the ratio of the circumference of W to the circumference of Z ?

A.
  2 to 1

B.
  4 to 1

C.
  8 to 1

D.
16 to 1

E.
32 to 1

Select and indicate the best one of the answer choices given.

Question 11.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

In the xy-plane, a quadrilateral has vertices at [image: image12.wmf] the point with coordinates negative 1 comma 4, the point with coordinates 7 comma 4, the point with coordinates 7 comma negative 5, and the point with coordinates negative 1 comma negative 5. What is the perimeter of the quadrilateral?

A.
17

B.
18

C.
19

D.
32

E.
34
Select and indicate the best one of the answer choices given.

Question 12.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

Question 12 is based on the following 2-column table. The title of the table is “Distribution of the Heights of 80 Students.” The heading of the first column is “Height in centimeters” and the heading of the second column is “Number of Students.” There are 5 rows of data in the table, followed by a row labeled “Total.”
Distribution of the Heights of 80 Students

	Height (centimeters)
	Number of Students

	140 to 144
	6

	145 to 149
	26

	150 to 154
	32

	155 to 159
	12

	160 to 164
	4

	Total
	80


Table for Practice Set 1 Question 12
The table shows the frequency distribution of the heights of 80 students, where the heights are recorded to the nearest centimeter. What is the least possible range of the recorded heights of the 80 students?

A.
15

B.
16

C.
20

D.
24

E.
28
Select and indicate the best one of the answer choices given.

Question 13.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

Which of the following functions f defined for all numbers x has the property that [image: image13.wmf] f of negative x = negative f of x for all numbers x ?

A.
[image: image14.wmf] f of x = the fraction with numerator, x cubed, and denominator, x squared +1, end fraction.
B.
[image: image15.wmf] f of x = the fraction with numerator, x squared minus 1, and denominator, x squared +1, end fraction.
C.
[image: image16.wmf] f of x = x squared, times, open parenthesis, x squared minus 1, close parenthesis
D.
[image: image17.wmf] f of x = x, times, open parenthesis, x cubed minus 1, close parenthesis
E.
[image: image18.wmf] f of x = x squared, times, open parenthesis, x cubed minus 1, close parenthesis
Select and indicate the best one of the answer choices given.

Question 14.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

If [image: image19.wmf] 10 raised to the x power equals 0.1 percent of [image: image20.wmf] 10 raised to the y power, where x and y are integers, which of the following must be true?

A.
y = x + 2
B.
y = x + 3
C.
x = y + 3
D.
y = 1,000x
E.
x = 1,000y
Select and indicate the best one of the answer choices given.

Question 15.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

Refer to the figure.
[image: image21.jpg]



Figure for Practice Set 1 Question 15
Begin skippable part of figure description.

The figure is a graph of the standard normal distribution with mean 0 and standard deviation 1. The figure consists of a bell-shaped curve graphed above a number line. Along the number line are 5 equally spaced numbers: [image: image22.wmf] negative 2, negative 1, 0, 1, and 2. Above each of these numbers is a vertical line segment extending upward from the number line to the bell-shaped curve. The vertical line segments divide the region between the bell-shaped curve and the number line into 6 regions. The curve reaches its greatest height on the vertical line segment above 0, and the curve is symmetric above the vertical line segment above 0.

The 6 regions shown, along with the approximate percents of the distribution in each region, are as follows.
The region above the interval to the left of [image: image23.wmf], negative 2, approximately 2%.
The region above the interval between [image: image24.wmf] negative 2 and negative 1, approximately 14%.

The region above the interval between [image: image25.wmf] negative 1 and 0, approximately 34%.

The region above the interval between 0 and 1, approximately 34%.

The region above the interval between 1 and 2, approximately 14%.

The region above the interval to the right of 2, approximately 2%.

End skippable part of figure description.

The figure shows the standard normal distribution, with mean 0 and standard deviation 1, including approximate percents of the distribution corresponding to the six regions shown.

The random variable Y is normally distributed with a mean of 470, and the value Y = 340 is at the 15th percentile of the distribution. Of the following, which is the best estimate of the standard deviation of the distribution?

A.
125

B.
135

C.
145

D.
155

E.
165
Select and indicate the best one of the answer choices given.

Question 16.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

A car dealer received a shipment of cars, half of which were black, with the remainder consisting of equal numbers of blue, silver, and white cars. During the next month, 70 percent of the black cars, 80 percent of the blue cars, 30 percent of the silver cars, and 40 percent of the white cars were sold. What percent of the cars in the shipment were sold during that month?

A.
36%

B.
50%

C.
55%

D.
60%

E.
72%
Select and indicate the best one of the answer choices given.

Question 17.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

If an investment of P dollars is made today and the value of the investment doubles every 7 years, what will be the value of the investment, in dollars, 28 years from today?

A.
[image: image26.wmf] 8, times P raised to the fourth power
B.
[image: image27.wmf] P raised to the fourth power
C.
[image: image28.wmf] 16 times P
D.
[image: image29.wmf] 8 times P
E.
[image: image30.wmf] 4 times P
Select and indicate the best one of the answer choices given.

Multiple-choice Questions—Select One or More Answer Choices

Question 18.

This question has six answer choices, labeled A through F. Select all the answer choices that apply.
The distribution of the numbers of hours that students at a certain college studied for final exams has a mean of 12 hours and a standard deviation of 3 hours. Which of the following numbers of hours are within 2 standard deviations of the mean of the distribution?

Indicate all such numbers.

A.
  2

B.
  5

C.
10

D.
14

E.
16

F.
20
Select and indicate all the answer choices that apply. The correct answer to a question of this type could consist of as few as one or as many as all six of the answer choices.

Question 19.

This question has six answer choices, labeled A through F. Select all the answer choices that apply. 

In a certain sequence of numbers, each term after the first term is found by multiplying the preceding term by 2 and then subtracting 3 from the product. If the 4th term in the sequence is 19, which of the following numbers are in the sequence?

Indicate all such numbers.

A.
  5

B.
  8

C.
11

D.
16

E.
22

F.
35
Select and indicate all the answer choices that apply. The correct answer to a question of this type could consist of as few as one, or as many as all six of the answer choices.

Numeric Entry Questions

Questions 20 and 21 require a number to be entered by marking entries in a grid according to the following instructions.
1. Your answer may be an integer, a decimal, or a fraction, and it may be negative.

2. Equivalent forms of the correct answer, such as 2.5 and 2.50, are all correct. Although fractions do not need to be reduced to lowest terms, they may need to be reduced to fit in the grid.

3. Enter the exact answer unless the question asks you to round your answer.

4. If a question asks for a fraction, the grid will have a built-in division slash. Otherwise, the grid will have a decimal point.

The instructions for marking the entries will depend on whether a regular print or a large print test is being used to record your answers. If your answers are being entered into a regular print edition of the test, the following instructions apply:

5. Start your answer in any column, space permitting. Fill in no more than one entry in any column of the grid. Columns not needed should be left blank.

6. Write your answer in the boxes at the top of the grid and fill in the corresponding circles. You will receive credit only if your grid entries are clearly marked, regardless of the number written in the boxes at the top.

If your answers are being entered into a large print edition of the test, instead of marking entries in the grid in steps 5 and 6, you will be asked to circle those entries.
Question 20.

This question does not have any answer choices; it is a numeric entry question. To answer this question, enter a number in the answer space provided. 

In a single line of people waiting to purchase tickets for a movie, there are currently 10 people behind Shandra. If 3 of the people who are currently in line ahead of Shandra purchase tickets and leave the line, and no one else leaves the line, there will be 8 people ahead of Shandra in line. How many people are in the line currently?

The answer space for this question is followed by the label “people.”

To answer this question, enter a number in the answer space provided. The number can include a decimal point, and can be positive, negative, or zero. The number entered cannot be a fraction.

Question 21.

This question does not have any answer choices; it is a numeric entry question. To answer this question, enter a number in the answer space provided. 

When the decimal point of a certain positive decimal number is moved six places to the right, the resulting number is 9 times the reciprocal of the original number. What is the original number?

To answer this question, enter a number in the answer space provided. The number can include a decimal point, and can be positive, negative, or zero. The number entered cannot be a fraction.

Data Interpretation Sets

Questions 22 to 25 are based on the following data.
The title of the data is “Selected Data for Greeting Card Sales”. The data consists of a bar graph and a table.
Selected Data for Greeting Card Sales
[image: image31.jpg]Selected Data for Greeting Card Sales

Annual Revenue from All
Greeting Card Sales, 1990—-1993

NOW R L Y
|

U

Revenue (in billions of dollars)

-

1990 1991
Year

1992 1993

Number of Greeting Cards Sold
for Ten Occasions in 1993

Easter
Mother’s Day

Occasion Number of Cards
Christmas 2.4 billion
Valentine’s Day 900 million

158 million
155 million

Father’s Day 102 million
Graduation 81 million
Thanksgiving 42 million
Halloween 32 million
St. Patrick’s Day 18 million
Jewish New Year 12 million

Total 3.9 billion

Note: 1 billion = 1,000,000,000





Data for Practice Set 1, Questions 22 to 25 (Bar Graph)
Begin skippable part of figure description.

The title of the bar graph is “Annual Revenue from All Greeting Card Sales, 1990 to 1993.” 
In the bar graph, the vertical axis is labeled “Revenue (in billions of dollars)” and the integers 0 through 6 appear along the vertical axis. The horizontal axis is labeled “Year” and the years 1990, 1991, 1992, and 1993 appear along the horizontal axis. There is a vertical bar above each year.
According to the graph the revenue from all greeting card sales, 1990 to 1993 is as follows.

For 1990, 4.5 billion dollars.
For 1991, 5.0 billion dollars.
For 1992, 5.2 billion dollars.
For 1993, 5.8 billion dollars.
End skippable part of data description.
The title of the table is “Number of Greeting Cards Sold for Ten Occasions in 1993.” The table has two columns. The heading of the first column is “Occasion,” and the heading of the second column is “Number of Cards”. There are ten rows of data, followed by a row labeled “Total.” 
Note: 1 billion = 1,000,000,000
Number of Greeting Cards Sold for Ten Occasions in 1993

	Occasion
	Number of Cards

	Christmas
	2.4 billion

	Valentine’s Day
	900 million

	Easter
	158 million

	Mother’s Day
	155 million

	Father’s Day
	102 million

	Graduation
	81 million

	Thanksgiving
	42 million

	Halloween
	32 million

	Saint Patrick’s Day
	18 million

	Jewish New Year
	12 million

	Total 
	3.9 billion


Data for Practice Set 1, Questions 22 to 25 (Table)

Question 22.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.
In 1993 the number of Valentine’s Day cards sold was approximately how many times the number of Thanksgiving cards sold?

A.
20

B.
30

C.
40

D.
50

E.
60
Select and indicate the best one of the answer choices given.

Question 23.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

In 1993 a card company that sold 40 percent of the Mother’s Day cards that year priced its cards for that occasion between $1.00 and $8.00 each. If the revenue from sales of the company’s Mother’s Day cards in 1993 was r million dollars, which of the following indicates all possible values of r ?

A.
[image: image32.wmf] r is between 155 and 1,240.
B.
[image: image33.wmf] r is between 93 and 496.
C.
[image: image34.wmf] r is between 93 and 326.
D.
[image: image35.wmf] r is between 62 and 744.
E.
[image: image36.wmf] r is between 62 and 496.
Select and indicate the best one of the answer choices given.

Question 24.

This question has five answer choices, labeled A through E. Select the best one of the answer choices given.

Approximately what was the percent increase in the annual revenue from all greeting card sales from 1990 to 1993 ?

A.
50%

B.
45%

C.
39%

D.
28%

E.
20%

Select and indicate the best one of the answer choices given.

Question 25.

This question has eight answer choices, labeled A through H. Select all the answer choices that apply.
In 1993 the average (arithmetic mean) price per card for all greeting cards sold was $1.25. For which of the following occasions was the number of cards sold in 1993 less than the total number of cards sold that year for occasions other than the ten occasions shown?

Indicate all such occasions.

A.
Christmas

B.
Valentine’s Day

C.
Easter

D.
Mother’s Day

E.
Father’s Day

F.
Graduation

G.
Thanksgiving

H.
Halloween
Select and indicate all the answer choices that apply. The correct answer to a question of this type could consist of as few as one, or as many as all eight of the answer choices.

The answer key and the explanations for the answers for the Practice Set 1 Questions are in the separate document titled “GRE Chapter 7 Set 1 Answers and Explanations.doc.”
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